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#2) Find the average value of f(x) = x? from x = 0 to
Explanation of Average Value x=2.

When integrating a function, you are finding the area 2
under the curve. Any area can be expressed as a J -2
rectangle with a length and height. The length is best A\/ - X O' X
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Boring Games

#3) The number of horrible, boring video games in
the world is predicted to be P(z) = 263¢%! million
games, where ¢ is the number of years since 2005.
Find the average number of horrible games between
the years 2010 and 2020.
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Review
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